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AN
7. Use algebra tiles to model each difference of

trinomials. Record your answer symbolically.
a) 32+ 25+ 4) - (29 +s+1) ) (353_2:;4.4)_ (253_5_ 1)

g (s — 25— 4) — (=282 45— 1) d) (=3 +2%-4)- (28 -5-1)
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8. Use a personal strategy to subtract.
Check your answers by adding.

a) 3x+7) — (—2x — 2) b) (b* + 4b) - (=30* + 7h)

9 (=340 = (43 g 4-5)-(-Tp+))
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o) (62 +7x+9) - (dd +3x+ 1)

hy (1 —3r+r) — (4r+5- 39
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i (1202 —dm+7) — (8m* +3m—3)
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9. The polynomial 47 + 2500 represents the

cost, in dollars, to produce n copies of a CO I our co p | es

magazine in colour. The polynomial
2n + 2100 represents the cost, in dollars, to COSt more
praduce 7 copies of the magazine in
black-and-white.
a) Write a polynomial for the difference in
the costs of the two types of magazines.

—

by Suppose the company wants to print
3000 magazines. How much more does it
cost to produce the magazine in colour
instead of black-and-white?
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10. A student subtracted
(2x* 4+ 5x + 10) — (x* — 3) like this:

B+ Sx+ 10— (=)

_2 2+ s+ 10- %+

‘::;(24'87("" |0

(2x2 4+ 5x + 10) — (x%2 — 3)
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12. A student subtracted like this:

2y =By +S)- (y +Sy-2)

=2t -ByrS-y ¥y L

__1??._?,?- _"g,:r.-l-";'}.'-l- g -2

:1:,'2—1'}!'4'?
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13. The perimeter of each polygon is given.
Determine each unknown length.

a) 6w+ 14
2w+ 3
O
2w+ 3
by /s +7
dgy 2

dgy 2
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15. Subtract.
a) (rf — 3rs+ 55%) — (—2r* — 3rs — 55

d) (e + 9 — 3> + 4f) -
(—f* — 2¢* + 3f — 6e)

& (5cd + 8¢c? — 7d%) — (3d* + 6cd — 4c?)

December 11, 2019
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16. The difference of two polynomials is
3x2 + 4x — 7.
One polynomial is —8x? 4+ 5x — 4.
a) What is the other polynomial?

set up like this

N

December 11, 2019
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17. The diagram shows one rectangle inside
another rectangle. What is the difference in
the perimeters of the rectangles?

2x+1

X KU

4%+ 3 &

,’L?'r

December 11, 2019
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18. One polynomial is subtracted from another.
The difference is —4x* + 2x — 5.
Write two polynomials that have this
difference. How many different pairs of
polynomials can you find? Explain.

December 11, 2019

13



	Page 1: Feb 8-6:45 PM
	Page 2: Dec 5-7:54 PM
	Page 3: Dec 5-7:50 PM
	Page 4: Dec 17-8:10 AM
	Page 5: Dec 17-8:10 AM
	Page 6: Dec 11-11:30 AM
	Page 7: Dec 19-7:22 PM
	Page 8: Dec 5-7:58 PM
	Page 9: Dec 11-11:31 AM
	Page 10: Dec 5-8:00 PM
	Page 11: Dec 11-11:32 AM
	Page 12: Dec 5-8:01 PM
	Page 13: Dec 5-8:03 PM

